© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

01152273 HANSAMIX - Dfezova baterie s ventilem pro mycku

EAN: 4015474259218

statichansa.com/01152273

Nahradni dily

SP01152173
Nazev Kod

1 Paka, L=87 mm 59914195
11 Sroub, M5x8, SW2.5 59904755
12 Kluzné pouzdro (osazené) 59904778
13 Zaslepka Seda 59912112
2 Krytka Moka 5991264787
2 Krytka Chrom 59912647
3 Upeviovaci Sroub, M50x1, SW45 59904890
4 Kartuse, 4.8 eco 59904601
41 Hot water limiter 59904759
51 Tésnici sada 59912646
53 Tésnéni, 37x48x3.5 59911422
55 Upeviovaci deska 59904765
56 Sroub, M8x1, SW13 59904766
5.7 Upeviiovaci set 59910749
510 Roura, d 10 mm, L=413 59911423
510 Flexibilni hadicka, L=500, G3/8-M10x1 59911767
511 Upevriovaci desticka 59910008
512 Upeviovaci Sroub, M8x1, L=140 59912474
513 Tésnéni, 40.3x6 59911387
7 Vytokové rameno Bila 5991271182
7 Vytokové rameno Chrom 59912711
8 Aerator, M24x1 STD HC A Chrom 59902366
8 Aerator, M24x1 A (2011-) Chrom 59913740
8 Aerator, M24x1 A Bila 59905419
8 Aerator, M24x1 Moka 59904998
8.1 Aerator, M22/24 A 59902081
9 Ovladaci paka Chrom 59910370
9.1 Vrsek, G1/2 59913457
92 0-krouZek, d 45x2.5 59911151
10 Connector nipple, G3/4xG3/8 59910940
10.1 Sroubeni 59910377

1


https://static.hansa.com/01152273

